Get out your homework and have it ready to check. Target Check on
iInequalities on Thursday. Warm Up on the problems below.

Classwork - Writing Inequalities
Warm Up: Solve the following Inequalities.

A) 2x—8> 20 B) 2,47<-1 C) —5x+4<19
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Bolve and graph the following inequalities. Remember, when multiplying or dividing by a negative number 1o
must flip the inequality symbol. SHOW WORK
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Tneaquiality Sions

‘ > =» Greater Than < = Less Than = =¥ Greater Than or Equal To < =* Less Than or Equal 1o

Open Circle is < or = Closed Circleis< or =
(Value IS NOT included) (Value IS included)

1) Write an inequality to represent the situation. Then graph the inequality.

A) To ride an amusement park ride, vou must be 52 inches tall or taller.
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D} To run for the President of the United States, vou must be at least 35 vears old.
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E) In the game of football, a team needs to gain at least 10 yards for a first down,
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B) A restaurant can hold at most 45 people.
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2) Write an inequality to represent the situation. Then solve and graph the inequality.

A) A bus holds at most 47 passengers. There are already 29 passengers seated on the bus. How many more
passengers canbe seated on the bus? Write an inequality and solve. Then graph it.
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B) It cost Sophia $72 to make wind chimes. How many wind chimes can she sell at 512 apiece to make a
profit? Write an inequality and solve. Then graph it.
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C) Jude wants to spend $55 from his savings account on a video game. He wants to have at least $150 left in his

account after he purchases the video game. How much money would Jimmy need in his savings account? Write
an inequality and solve. Then graph it.

) In ality
Define Variable: ]rn = m‘\ﬁ LA q.{'ﬂﬁ\-‘”&' M — gug 2 \‘;ﬁ
AxS S g

:::::::‘4::::).:: ™S '
By NS 4 L —t?ﬁ)‘b

D) Mark 1s driving to Florida at 65 miles per hour. The most he 15 willing to drive in one day 15 585 miles. How
many hours could he possibly drive? Write an inequality and solve. Then graph it.
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E) Jacius has drunk 2 glasses of water today so far. His goal is to drinket¥®ast § glass
many glasses does he need to drink to reach his goals? Write an inequality and solve. Then graph it.
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